5'0
€05 Bxam, M 209 @

W A T 7 Tderr QT @iaA ) T MR G0 A% 3% 4 O

A# . :SDEY-TMTH wéraror gfeve sepen
T e gferst
2019- ~
AT : W wsmm _ . i : 160
AR

TharT WTER B 3 O A, T YR o R R e s e R wet wig fien v,
T T Y TS v W i A Ry | wR e §, o i et wlwor offve ¥ wew fifirg
wour wm o fix OMR Iwe-wrr # ofew wmowx, Qm e she whew v s
A, B, CTID = vhim ¥ v far feell wn iy ¥ 3k e ey wek o Rnir
mﬁtlﬁﬁmﬁw/ﬁm&m*mnmﬁm“ﬁwwl
o e gfRve v ey 3 fg e s # stve s
FpET o - rwlsm yierm sy A fed |
wuﬂwaﬁnimm(m)ﬂqw’@lmmwm(%%iwtl
WelE W § 9w () i 7 E | e Y o TR @ S, Rl s e w
Sifivy WA e € | af et J W 5w ¥ e v o f, a’twmﬁraﬂmﬁ
W o wArw W | we e ¥ firg e vw v T R |

I FIA T T s & Ry e ge-vve vt o e € | -oors % g wre g 3o |
weht w3 o o ¥ | |

o T R e v it % it it & s TeR-Tr W s W R o, ame
T wr-a & v R et ¥ seER 3o feR - A 3R K

9 T T TR W TR 3 R & W A X W TS T maﬂ'lwa?t

Wi ¥ | s e wra atie gew & o A aeEfi b )

TR B & Ty s, vl gftem & s & wew €

e Jwet ¥ forg gex :

mm-ﬁimmmwmmtﬁqwﬁwml

0) nﬁmmtﬁqwhﬁmmtlwﬁmmmm%ﬁqﬂqumm
¥ Rng we g Prarr fig T st v v - Rl 29 3w 3 e e

(i) R A efiear v & wftms IR ¥ §, A oo Fwe T e, wﬁ&qnwﬁﬂ%
& Fe we B 8, FR R 98 W % o avdemer B s W W zew R wwo |

(i) TR Iefear g A wer v e w2, sl Sefimar TR0 W Wl Rar wrET
& 30 W 3 fog g v wnlf R e

WK o AT JF W GRONET QYT WY T WET N o T T O

Nm:Engﬁshvusioqn’fthnimtmcﬁmisprmmdonihebackcmofthisBooklet

https://www.pyqonlin'e.com



| aTTR 2 (02) Wt ¥ forg s
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1. %9-1 % SERET 9T W oA ;|
22

(@) -336

() 356

© 376

@ 396

'z‘.avﬁ-n%vmiam#amww

27

(&) 26

{b) 36

©) 46.

@ $6
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AT W (04) W 3w forg P -
ﬁﬁmmﬁqﬁt{:ﬁ M AW 9
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et & ofte et 4 3§ o 5 vt g AW
7 X5 & wedd B Fom o e 52
e e omar 1

¥ g gt
e A BIC|DE DAL

52 (% %) | 24(18]20(30{ 8 3000

3. 4w Egra st 7 % 8 g gl
I, MR CERT 2T eft & 3
@ﬁﬁmmmmt?

(a) 52

{b) 54
() 35

d) 56

4.9 B T W Y M wfEt
et B wen, fe 4 @ ¥
X & TRl e ¥ Rl
wﬁmaﬁm%? |

R
®) 83}
(c) 86%

(d) 884
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Directions for mgfouom,m (02) items :

Read the followitig frequency dlsiibution
for two series of observations and snswer
the two items t‘hat}follow: '

S(in%) |19]21}15{33112] = 6400

, v Frequency
Class interval | —creo T | Series-i
10-20 20 4
203 | 15 8
30-40 10 | 4
40-50 Cx e
5060 | o y
Total 100 | 100

1. What is the mean of frequency distn-
bution of Series-1 ?

@® 36
(b) 356
©) 376
@ 6

2. What is the mode of the frequency
distribution of Series-IT 7 ‘

@ 2
®) 3
© %

@ 56

$2(in %) |24|18]20(30{ 8 | 3000

Directions for the following four (64) items :
Read the following information and answer

~ the four items that follow :

Let the distribution of number of scooters of
companies X and ¥ sold by 5 showrooms
(4, B, C, D and E) in a certain year be
denoted by S1 and the distribution of number
of scooters of only company X sold by the
five showrooms in the same year be denoted
by §2. '

Total number

3. Number of scooters of company ¥ sold
by showroom E is what per cent of the
number of scooters of both companies
sold by showroom C ?

(a) 52

(b) 54
) 55
@ 56

4, Number of scooters of both the compa-
nies sold by showroom B is what per
cent-more than the number of scooters
of company X sold by showroom 4 ?
(@ 782
() 834
() 86%

(d) 881

C - SPHY-T-MTH
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5, aﬁmA CHR EGRT R 7q &t v

G N EE T R
(@ 4614

() 4314 |
(c) 4264 |

(@ 4164

6.9 4 g W Ty A R %
Tl & wem ok et ok £

e 39 Ty Sl X ¥ Tl =

o H SRR 7
(@) 416

) 426
(c) 432

(d) 436

ot e (04) e g P ¢

frafofea @ A e ok am o @

mwﬁ%y_ma‘lﬁq;
Fiwg Tt & 5 frod 3o ol & wra R
w5 Siftrn GERn SN Bt o o § |

w2004 | 2015 | 2016 | 2007

AR AT
TEt & wEn 40957» 46070 52750 | 48746

R

o W
N - 4037 | 3125 | 2585 3559

'ﬂfﬁlﬁﬁsm 12330 {13894 | 15746 | 20457

SDHY-T-MTH - C

4

7.

7§ 2017 ﬁwﬁr&awﬁ:ﬁ&mmﬁﬁ

Y o wem T i 7

{a) 51

) 53

(&) 54

@ 56
. 2014-17 F Fafy # Yoo afet

Iy g # wom e e

T a7

| (a)_ 66% :

(b) 68%

© 7%

@ 76%

.Y 2017 ¥ T5 gemat Ao A

EICE o conl Y o o
¥

(a) 163

®) 152

(¢) 147

| @ 134

10.

¥ 2017 % wgw et # Qo T

A e g & shea o

22

(8) 10
o 12
© 19
@ 21
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"5, What is the  average nw of
scooters of company ¥ sold by the
showrooms 4, C and £ 7

(a) 4614
(b) 4314
(c) 4261
@ 4161

6. What is the difference between the
number of scooters of both companies
sold by showroom A and total number
of scooters of company X sold by
showrooms B and E together ?

(@) 416
(b) 426
(c) 432
() 436

Directions for the following four (04) items :
Read the following information and answer
the four items that follow :

The data shows that Indian roads are turning
deadlier over the years,

Year 2014 | 2015 | 2016 | 2017

Number of :
bikers killed 40957 46070 {52750 48746

Number of h ;
pedestrians -] 12330 | 13894 | 15746 | 20457
klled

Number of | |
e i | 4037 | 3125 ;sas 3559

7.

What was  the average nuinber of
pedestrians killed per day in the year
20177 ' '

(@ 51

) 53

© 54

@ 56

8. What is the approximate percentage

10.

change in the pedestrians’ fatalities
during the period 2014-17 ?

(a) 66%
(b) 68%
© %
(&) 6%

What is the average.number of bikers
killed daily in road accidents in the
year 2017 ? '

(a) 163

) 182

© ,147'
@ 134

What is the average number of cyclists
killed daily in road accidents in 2017 ?

(a) 10

) 12

(c} 19

@ 2

C — SDHY-T-MTH
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11.

12.

13.

14,

maﬁﬁqﬂaﬂwamﬁﬁm”

mmm%%afmf =32

iR ab+ova=31 &1 5{“7‘"”) al

AR ?
(a) §
b 7
{c) 9

(d)ﬁef&daﬁﬁmmm

qﬁ;x:‘*‘f ey rt, i fr-
%&aﬁ%ﬂa%@mﬁym
¥ 7

(@) 82-20y-1=0

(®) &2+20y-1=0

(©) &§2+20y+1=0

(d) 82-20y+1=0

QA TR F G wATEdE (HCF)
12 | Frefofm % & 7 o ow wh
st e oW wEeE (LCM) e B
aaa & ?

(a) 80

(b) 60

(c) 36 .

)

o Fot | few fifvg
L 1773 vk 97 7 %)

2, ol ot 2 Rwm sl & it @
s T 8 frrm &)

B 3.@!%%@#@@%%‘ |

% 1 gt 0 R @

SDHY-TEMTH-C -

| ,mﬁﬁﬂaﬂﬁﬂ‘mﬂﬁﬁ 7

15.
3R 20% ¥ A T & @ A

16.

(a) 1231113 |
(b) ¥ 13R2
(c) ’%ﬂﬂ23ﬂ13,
(d) w133
2 PP et e s o T &

¥ ot i v & S v

ik g % i = & | A el

# v ooty faw f o 8y AR

2 9w Wy it # K 482 WU

2 ﬁuﬁmﬂmﬁﬁ%&rﬁmw
e fem & 7

(a) 10,000%9% .
®) 160007

v(c) Z0,000 Bﬂ[ﬂ

(d) 24,000€9

% fom & g v

x4 T+ 6 W AR e st
# Py R o & 7

(® 0

®) 1

{9 2

@ 3
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11.

12.

13.

Ix=

Let g and b be two positive real
numbers such that av/a +bvb = 32 and

avh +b+a =31, What is the, value of

Na+b)
=
@) 5

® 7
© 9
(d) Cannot be determined

1443
2

and y =»x*, then y satisfies
which one of the following equations ?
(a) 8*-20p-1=0
() ,sy2+zoy;1 =0
(c) &*+20y+1=0
(@ 82-20y+1=0

HCF of two numbers is 12. Which one

of the following can never be their
LCM? ‘

(a) 80

_ (b) 60

14,

() 36

() 24

Consider the fol]owiﬁg statements :
1. Unit digit in 1717 is 7.
2. Difference of the squares of any

two odd numbers is always divisi-
ble by 8.

3. Adding 1 to the product of two
consecutive odd numbers makes it
a perfect square.

Which of the above statmm‘ls are
correct ? |

(8) 1,2and3
() 1 and 2 only
(¢) 2 and 3 only

@ 1.and 3 only

15. The rate of interest on two different
- schemes is the same and it is 20%. But

in one of the schemes, the interest is
compounded half yearly and in the
other the interest is compounded
annually. Equal amounts are invested

- in the schemes. If the difference of the
- returns after 2 years is ¥ 482, then what

is the principal amount in -each
scheme ? '

(a) 210,000

(b)) 216,000

16.

(c) ¥20,000

@ T24000

For what value of k can the expreésion |
% + kx? — Tx+ 6 be resolved into three
linear factors ? :
(8 0

() 1

© 2

(d 3

C - SDHY-T-MTH
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I X YR Z G wW A B e W

AR o& @ R ¥, v goEr R
% SR AR e @& W@ £ X 252
¥ ¥ O IR [ ORT Y, Y, 308
dawe # ok Z, 198 ¥R ¥ TR
W wa ¢ | few wng o A A
TR oA ) [ fef 7

(a) 26 firiz 18 dae

(b) 42 firz 36 Awve
{c) 45 fime

() 46 fire 12 v

132 4 wemaat
"y o I
Lomywnd 2
| 5
(2) 13
]
(b)“?::};
10
(©) 77
20

@ 3

19. 96  wfiwot 2+ 5546=0 #R
Pthtl= ommﬂﬁﬂﬁ% A kW
a2
.(a),-—z”""‘“’H
@) = I —

©) 5 -

@ -=amar —

20.:4 9 B F1 25,000 T2 IR Ry ok et

21.

7.
¥ 7T 600 TR T B | AR I

T C F 58 g GRS
i 7% R =W ® | IR | 4 74
TG4 H B IAC 11,200 T = &
mﬁmgqlﬁca?rﬁzﬁimﬁr |
SuR & off ?

(a) 2000079

(b) 25000 T2

(c) 15000 &

(@) 10000TR

T WK 3 e B ww § e w
A &, el 3 W 30% wawm
t R W on R )

W e ¥ o i gg W w
af g ?

(a) 6% wf
(b) 6% @
© 9% @
(d) 9% ™M

A‘ﬂkﬂ?ﬁmmm:ﬁimﬁ

T3 2% agma A € @ 4 B ol

A e d 7

(2) 1800 T9d
(b) 2000 TR
(c) 2400 T
(@ 3600 T
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17. X, Y and Z start at same point and same

time in the same direction to nn
around a circular stadium. X completes
a round in 252 seconds, Y in 308
seconds and Z in 198 seconds. After
what time will they meet again at the
starting point ? o
(a) 26 minutes 18 seconds

(b) 42 minutes 36 seconds

{c) 45 minutes

(d) 46 minutes 12 seconds

4

2’7?

¥ 1 b4

3
6

O | b

1
18, What is theLCMDfE

® =
® 5
© >

@ 3

19. If the equations 2+5x+6=0 and
x2+hkx+1=0 have a common root,
then what is the value of k?

Sa-U

20.

21,

22.

A lent 25000 to B.and at the same
time lent some amount to C at same
7% simple interest. After 4 years
A received T11200 as interest from
B and C. How much did 4 lend to C?

(ay 20000
() 725000
{c) T15000

@ 210000

A trader sells two computers at the
same price, making a profit of 30% on
one and a loss of 30% on the other.
What is the net loss or profit
percentage on the transaction ?

(a) 6% loss
(b) 6% gain
(c) 9% loss

(@) 9% gain

The monthly incomes of 4 and B are in
the ratio 4:3. Each saves T600. If
their expenditures are in the ratio 3: 2,
then what is the monthly income of A ?
(a) 21800

(b) ¥2000

(¢) 2400

(d) 3600

C — SDHY-T-MTH
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U
® 5

32

© o

19

@ 5

.9 NE 178 R e e

TGS 182 % aaR ET & | e

R v & de w15 81

NwFawEE?

(3) 2975
() 3094

(© 3101

(d) 3269 .

.‘mwwﬁsﬂmmﬁmﬁﬁzﬁq

48 &7 o= iy &1 9@ WR 160
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() 721%?"

(b) 64 fea

(¢) 60fem

@) s4fem

10

(@)

o)

. O

26@@wwgfﬂzrmm
T s v 3 ok few o

R S S R , R U A @

W R e ¥ ek aw afew

T T A IR T
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A ENISERRE S
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R wedt §; AR fekw Y@ n Tt
xyzﬁmLMaﬂINWﬁZ?ﬁ
%1 AR pg- 3em, QR=9cm ¥R
- MN=105cm ¥, a}mﬁrwﬁm

- #

(8) 3em
®) 35 cm
(c) 4cm

@ 4Sem -
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. @A 256om’ B | B F M W

Mrmamsrd?
(a) 23

(B 32

(c) 33

(@) 34
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23. The {rain fare and bus fare between

‘two stations i$ in the ratio 3 : 4. If the
train fare increases by 20% and bus
fare increases by 30%, then what is the
ratio between revised {rain fare and
revised bus fare ?

9

@ 33

17
p(b)'ﬁ

32
© 5

19

@ 7

. When N is divided by 17, the quotient

is equal to 182. The difference between

the quotient and the remainder is 175.
What is the value of N'?

(@) 2975
(b) 3094 .
{c) 3101

(d) 3269

. A stock of food grains is enough for
240 men for 48 days. How long will
the same stock last for 160 men ?

() 72 days
~ (b) 64 days
(c) 60 days
(d) 54 days

26. A hollow right circular cylindrical

“vessel of volume ¥ whose diameter is
equal to its height, is completely filled
with water. A heavy sphere of maximum -
possible volume is them completely
immersed in the vessel. What volume of
water remains in the vessel ?

(a)

W= e

()

i
(c} K}

4
(d) 2

27. Three paralle]l lines x, y and z are

cut by two transversals m and ». Trans-
versal m cuts the lines x, y, z at P, O, R
respéctively; and Transversal n cuts
the lines x, y, z at L, M, N respec-
tively. If PQ=3cm, QR=9¢m and
‘M?J-lﬁﬁcm,thcnwhatnslhelength
of LM?

(@ 3em
() 35ecm
(¢) 4cm
(d) 45cm

28. The area of a sector of a circle of

radius 4 cm is 256 cm®. What is the

‘radian measure of the arc ofthc

sector 7
(a) 23

®) 32

©) 33
@ 34

C - SDHY-T-MTH
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29,

30.

31,

o Ot 3 sk 3 Pt ¥ @
FE F o 7

(&) o 7 ¥ P st e 2

(b) W 7 ¥ Py F o Bt @

(o) o v S, P R fedra g &
(d) T HNE T I T B

" e w& Bism ABCE @im BAC
&1 fowrm BC R farmg X W firerm 3

Tt 3} e v & 0

(a) AB < BX
(b} 4B > BX
(©) AX=CX

(@) v # § B

108 0(0056) + log, 59) + log otan) +
log)o(cotd) + logyg(secl) + log,ofcosech)

 wamEd?

32

@ -1

(b) ©

(c) 05

@1

7t cosx + cosx =18, at

sin%x + 3sin'% + 3sin®x + sinfx
Colic o

(a) 1
(b) 2
() 4
d) 8

SDHY-T-MTH - C

33.

afe 0< 6 < H°, sin9=§ I x=cotd
%@

1+3x+ 92+ 2767 + 8134 + 2435
FATFE ?

| (a) 941.

34,

) 1000
(¢) 1220
(d) 1365
b R 24 $E TR W ¥ e

() & frem T Yo w Rm
et fag P & 1 @l & ot %

RIS T E | 7R g

PR & maR A ot s 1 3R

35.

yEaftrffer it o e
g7 -

() 2k =x%

B Wep?

(c) 2k =y

@ 28 = x3?

sin19° cos73°
cos71° sinl7° F A Y 7

{a 0
b 1
() 2

(d) 4
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29.

Which one of the following is correct
in respect of 2 right angled triangle ?

'(a) Its orthocentre lies inside the

triangle

{b) Its orthocentre lies outside the
triangle :

(¢) Its orthocentre lies on the triangle

d) It has no orthocentre

Let the bisector of the angle BAC of a
triangle ABC meet BC in X. Which one

~ of the following is correct 7

() 4B<BX

e (b} AB > BX

(o) AX=CX

31

{d) None of the above

What is the value of logy(ces@)+

log;(sin6)+log, (tand) +log,g(cotd) + -

log,(sec8) +log,g(cosech) ?
@ -1
(®) 0

ey 05

32

@ 1

If costx +cosx =1, then what is the
value of
sin?x + 3sin'% + 3sinx + sin®x ?

(a) 1

® 2

© 4

@3 e

- 33, If0<0<90° sinf =% and x = coth,

<13

35.

then what is the value of
1432+ 92+ 2705 + 81x4 + 2435 7

(a) 941
(b) 1000

(c) 1220

(@) 1365

The angles of 'elavat_ibn‘ of the tops of

two pillars of heights & and 2k from a
point P on the line joining the feet of
the two pillars are complementary. If
the distances of the foot of the pillars

from the point P are x and y respec-

tively, then which one of the following
is correct ? '

(a) 20 =xYy
() 2K = xy*
© W=xm

@ 2=y

. 3 Q
What s the value of SI21%° , €0873" o
- cos71° sinl7°

O

® 1
© 2

@4

C - SDHY-T-MTH
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36.

37.

P w R 2 cm e | Pom %
e oftd & 3 ofd % e areh g0
TR & r dn wet R |
Tt @ P w o T 2 2

(@) 33 em
(b) 44 cm
() 66cm
(d) 88 cm

foredt wei ABCD R T 4D #R BC
sk € o s fret 4 9k BD

fag o w fomm 1 afe B 408

& &% 3cm? # 3R Bvw BpC @

- 40,

A 8 om? ¥, @ P 40D @1

g fe & 7
(2) 8 em?

(b) 5 em’

() 5-6 cm?

@ 18om

Brom 65 om ™ T I = i
fag P b am A yeR A AP =
3R BP=y ¥ | frfufgm & ¥ <
G ferfa # forg P w R it 3 7
@ x=65cmARy=65cm

) x=12cm ¥ y=5cm

() x=5emdRy=

12 cm

(@ x=0cm3Ry=

I3em

SDHY-T-MTH - C

T Y- ABE¥Im g od

14

39,

41.

2 gy gt 4BCHR POR S Therma

WA 75 em 3K 50 om & | AR P

POR & T& ¥ & 5o 20 em }, A

,f%rgmacﬁsa%mamﬁm

W%?

(a) 25 cm

(b) 30 cm

© 40 em

@ 45 em

o A PORS T W A R

foreds frat PR 3k 05 fag 0 ™
wfesde wa €| IR Pom orS @
wwarg, P & freeht e you 6 wad
10cm®, @ foai PR Fa 7 & 2

(@) 5V3em
® 10Viem
(c) 15J§cm
@ 26v3cm

TF W & A o e & G
rydRzE 1R T v g,
At foreforfea 3 & S v wd & 2

(a) V=x2

) V=

(© VP =x7

@ V= (gzy

https://www.pygonline.com




365

The pmmetcr of a trisngle is 22 cm. _

Through each vertex of the triangle, a
straight line parallel to the opposite

 side is drawn. What is the perimeter of

3.

triangle formed by these lines ?
(a) 33 cm
(b) 44 cm
(c) 66 cm

(d) 88 cm

The sides 4D, BC of a trapezium -

ABCD are parallel and the diagonals
AC and BD meet at O. If the area of

triangle AOB is 3 cm? and the area of

triangle BDC is 8 cm?, then what is the
area of triangle AOD?

@ 8o’
®) 5 end
© 36 cnf
@ 1-8 o

. A line segment AB is the diameter of a

circle with centre at O having radius

65 cm. Point P is in the plane of the

circle such that AP=x and BP=y.
In which one of the following cases
the point P-does not _1i¢ on the circle ?
(@ x=65cmandy =65 cm

() x=12cmand y =35 cm

(c) x=5cmand y =12 cm

(d)’>x=0c'mandy_ﬂ 13cm

15

39.

The perimeters of two similar triangles
ABC and PQR are 75cm and 50 cm
respectively. If the length of one side
of the triangle POR is 20 cm, then
what is the length of corresponding

" side of the triangle ABC?

-~ (a) 25 cm

() 30em
(c) ;IDcm

(d) 45 em

40.

41,

Let PORS be 3 parallelogram whose
diagonals PR and QS intersect at O.
If triangle QRS is an equilateral
triangle having a side of length 10 cm, -
then what is the length of the diagonal

PR?

@) 5¥3em
() 1043 em

() 153 cm

@ 203 em

The areas of three adjacent faces of a
cuboid are x, y and z. If ¥'is the volume
of the cuboid, then which one: of the
following is correct ?

(@ V=x2

) Vi=xz
© PP =xz
@ ¥ = @

C - SDHY-T-MTH
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42,

43.

o Pt T P A
(m%mmm:wwm
w%?

@ —

b —

() V3P

@ 27

mmr{mw‘mmﬁmmﬁ@

FTIGEIRSTTIL, A ®

45

46.

150° 0 UH B FaRm wam 1 qR

W R W T F A A B
W, 3 36 VAR T a9 g9 6 few

- wm?

@) %cm

(b) 7 cm
{c) 8 cm

(@ T

. AF A 2, 0 IR R, 128 em
e P & sl & Am g o

2 v

B PR ® Yot & we figsit =
fwrae @ Pyw 4BC T W, @
WMCWWWW?

(a) 4 cm?

®) 8 cm?

(¢) 16 cm?

(d) 32 cm?

SPHY-T-MTH - C

T TS ep—

Y pw d fig B ok Cof, ik xar
gR QA fig AR Ehifore | Bk £ R
TR el Y@ ¢ 3R D qwA Tl

@ i fig A e wh R,

st piRgFAw et
AR AC:4D=4:9 %, @ P ABC
#Rﬂrgwrwﬁiﬂﬂwi‘imaﬁww
27 2

(a 2:3

() 4:9

©) 16:81
d 1:2 |
e o g R A Y
¥ s warg P oK @R ¥ o
T a | PoE S mm A wl &

§PIHST <1 TR T & 7

(@) 3:4

47.

(b) 2:3

© #3:9

@ 243:9 |
ot iR gt @ e
war wm | fael 1:2 % squra &

~F 1 AR et € waredt w1 A

12em %, @ WHIR TR T TR

vﬁﬁﬁﬂ'@?

(a) 9 cm?
(b) 12 om?
@“ 16 cm?
() 25 cm?
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42, 1f ] is the length of the median of an
‘equilateral triangle, then what is its
area ?

g

():D_
2

(b){_f_

{© 3P

d) 2

. A piece of wire is in the form of a
sector of a circle of radius 20cm,
subtending an angle 150° at the centre.
If it is bent in the form of a circle, then
what will be its radius ?

(@) ?cm

() 7 em
(c) 8cm
(d) None of the abovc

. Suppose P,  and R are the mld“pomts
of sides of a triangle of area 128 cm’.

If a triangle ABC is drawn by joining

the mid-points of sides of triangle

~ PQR, then what is the area of triangle

ABC?

(a) 4 cm?
(b) 8 cm’
| (c} 16 cni2
(& 32 em?

17

45,

Let two lines p and g be parallel
Consider two points B and C on the
ling p and two points D and E on the
line g. The line through B and £
intersects the line through C and D at A
in between the two lines p and ¢. If
AC:AD =49, then what is the ratio
of area of triangle ABC to that of
triangle ADE 7

@) 2:3
() 4:9
(c) 16:81
@ 1:2

46. Ane:quilatcmltr?ianglemdafquarem

47.

constructed using mefallic wires of
equal length. What is the ratio of area

of triangle to that of square ?
(@) 3:4
(b 2:3

(o) 443:9
d 243:9
All the four sides of a parallelogram
are of equal length. The diagonals are
in the ratio 1:2. If the sum of the
lenigths of the diagonals is 12 cm, then
what is the area of the parallelogram ?
@ 9em?

() 12 em?
(©) 16 cm?
(d) 25 cm?

C - SDHY-T-MTH
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48. ABCT Pirgw ¥ Brewn 2 .a_%m'a?rvf

49.

23R AB=5cm iR BC=10cmT,

 vid B R TR TG T A
w e

(2) 4 cm

®) 245 cm

© 3‘; om
@ $om

W HTIER T QA b et
2:3% Fgm % ¥ | vt Browst w
FTR

(a)'J:sz
®) V3:42
) 2:43
(d) @:2.

50, U5 W.‘ﬁ wamd 3R ﬁm{m:

20% 3K 10% 731 & I ¥ | I@ F

e A Ryl et v

(a) 32%

(b) 30%

© 25%

(d) 13% -

~ SDRY--MTH - C

18

51,

it & s B & wf  daE
10cm 3, T W FaR % T P
7 Aftrre sve f & 2

(a) 100 cm?

(b) 50 em?

© 25 em?

© (@) 10 em?

52.

T ¥ W YR T ¢
4§ 201 mm P a1 W 38w
R X SRR R
AEm ey 7

(@ 11:7

S ® 7:1

3.

{c) 20:19

@ 19:20

s 7 0 A T 20 o & 9K
¥WE % YA G 1000 cm? R |
AT T A fwrr 2

(a) 4000 cm®

(b) 4500 cm’

(c) 5000 cm’

(d) 5200 cm®

. IR 1 0F 791 forgedt war 33 cm 2,

HemPIm @ F WM F e H

AR TR W W W N W

it Ao w1 & 7
(@ 75°
(& 90°
© 135°
d) 150°
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48,

ABC is 3 triangle right angled at B. if

AB=5 cm and BC = 10 em, then what

is the length of the pemendicular

drawn from the vertex B to the .

hypotenuse 7

(@) 4¢m'

49,
- their heights in the ratio 2 : 3. What is

(b) 245 em

© %cm

(d) 8cem

Two cylinders of equal volume have

the ratio of their radin ?

~(a)-\w[.§:1'

50. The length andhmdthofarwtangle.

(bj V3142

) 2::3

@ 3:2

. are increased by 20% and 16% respec-

tively. What is the percentage increase
in the areaofthe mctangle?

(a) 32%

(b) 30%

(c) ZS%V

@ 15%

» 19;&'. ;

£

51.

If the length df the hypotenuse of a
night angled triangle is' 10cm, then

- what is the maximum -area of such a

53,

right angled triangle ?

(a) 100 cm?

() 50 cm?

() 25 cm?

@ 10 em?

A square is drawn such that its vertices
are lying on 2 circle of radius 201 mm.

What is the ratio of area of circle to
that of square 7

(a) 11:7
by 7:11
(¢} 20:19
(d) 19:20
A right circular cylinder had a diameter
of 20 cm and its curved surface area is

1000 cm?, What is the volume of the
cylinder ? '

(a) 4000 cm?
(b) 4500 cn’
(c) 5000 cm?
@ 5200 cm®

. A piece of wire of length 33 ¢m is bent

into an arc of a circle of radius 14 cm. -

‘What is the angle subtended by the arc

at the centre of the circle ?
(a) 75°.

(b) 90°

(c) 135°

(@ 150°

C - SDHY-T-MTH'
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55. r P @ @ ardla & o ol ot
%Wiﬁi, rﬁwm%ﬁ%
Fierid %t % e & s W & 2
(@) 1:2 |

(@) 2:5
() 2:3
(@ 3:5

56. 99 x*-x'+7x+5 T=¥:‘Tv(x+.?,) %f

fawfm e snar &, @ woem
ad+b?+ex+d AWM R 1a, b, cAR d
& AF FRY: A E 7

(@ 1,-2,31

) -1,2,3,1

© 1,-2,-3, -1

@ -1,2,-3,-1

. 57. @& Py <t y9Td #A: 30 cm, 28 om

M 16cm {!l b-13E2) %’ﬂ‘:ﬁﬁ freem
¥ fo; fm ot & agoe &
Al BRlt ?
(a) 37, 11,28, 16
(®) 21, 30,28, 7
(c) 37,21, 11,9
@ 37,21,9,7

58. 18 lagwIQfS =33000%, At
(0-001995)8 FTww FaT & ?

l .

(a) 100
1
10038

(b)

1
1 00‘3 s

(c)

I
107375

@

SDHY-T-MTH - C

- 20

59, {x-a)(x—b}(x«c;)‘ﬁm%m%?
(a) ‘x3m(a+b+c).r2+(bc+ca+ab)xmabc '
®) x3+(a+b'+c)x2+(bc+ca+ab)x+abc
() x*-(betca+aby+(a+b+c)x—abe
(@) xP+(bo+catab®(atb+c)x-abe

0. % A xvZ w ey P &
fedt xy=7om #1 R Pom =
BT AR, o log AW Am T} ?

(fer 7o 1 log,,1050 = 3-0212 9K
Eog’oBS =1.5441) | | "

(a) 5-3070
(b) 53700
{c) 55635
(d) 56535

61. T @Em Mer ¥ e sl Ak
TR =W I Gem 3R dom & |
8 M & F9a=R 8 em MR =g

T TS vF o oitefla R o d
Fh I |

(a) 475 ¢cm
(b) 530 cm.
(c) 625 cm

(d 675 cm-
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55,

‘What is the ratio of the area of a square
inscribed in a semicircle of radius 7 to
the area of square inscribed in a circle
of radius r?

(@ 1:2

®) 2:5
© 2:3

@ 3:5

56. The quotient when x*-x2+7x+5 is |
divided by (x +2) isax® + bl +ex+d.

57.

What are the values of @, b, ¢ and d
respectively ?

@ 1,-2,31

M) -1,2,31

(© 1,-2,-3,-1

() -1,2,-3, -1

The sides of a triangle are 30cm,

28 cm and 16 cm respectively. In order

to determine its area, the logarithm of

‘which of the quantities are required ?

(a) 37,11, 28, 16
() 21, 30, 28, 7
{c) 37,21, 11,9
(d) 37,21, 9,7

58. If log;(1995 = 3- 3000 then what is the

| (c}.

value of (0 001995)3 7

1

()

1
1 00‘33’75

(b)

1
1093275

1
100"3735

@

- 21

59, What is (x — a)x — b}{(x—c) equal to ?

6l.

() ¥~{a+b+c+{bctcatab)s-abe

‘(b} f+{a+b+¢)x2+(bc+ca+ab)x+abc

(c) x3;(bc+ca+ab}f2+(a+b+c)x‘~a5c

(d) P+(be+catab)—(a+b+ci—abe

Let XYZ be an equilateral triangle in
which XY =7 cm. If A denotes the area
of the triangle, then what is the value
of loggA*? (Given that log;p1050 =
3.0212 and log,,35 = 1-5441)

(a) 5-3070

(b) 53700

(©) 55635

(d) 5-6535

A hollow sphere of extemnal and
internal diameters 6¢cm and 4cm
respectively is melted into a cone of
bascdmeter&cm.Whatisthchclght '
of the cone ?

(a) 475 cm

(b) 550 cm

,.(G) 625 em

(d) 675 cm

C - SDHY-T-MTH
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62.

- 63,

W W dw A S

10 cm IR B 6 cm #, B Rreemae

q 9% T T § R s 1:2
S AR It t o s
IOcm%amaa(m)gmmﬁ
uﬁmq&ﬁﬁ?ﬁ%?

(8) 25%
®) 50%
© 5%
@ 100%

it w wam fom (R o

g Ut & ) e 15em #,

A @ P & sftean g =
Tt 7

-~ (a) 240 cm

(b) 225 cm
() 113 cm

(@ 112em

.24 & Wl OF yoell 98 A WK

saral 6 39 o9 4 W R W
v § f I WieR @ W #@ g
v s W% | W TER T gEEw
(W0 a) 7 F @ B W G

8 A

() 259 fe
® 243 5

(0 97 FE
@) 4T R

SDHY-T-MTH - C

65

, T e (&ﬁ&w)ﬁcbqtﬁﬂﬂ

Hifre, Fret 4B Rk co v §, ok
AD, ABR W ¥ i wew ¥
Faga ¥ N AB H EWR #R CD R
F % @ e §, sl £8 = 25 om 3R

CFC=l6m¥ TR am AT ?

66.

67.

68.

(a) 16 cm
(b) 25 cm
(¢) 36 ecm
(d) 40 cm

3 cm, 4 om K 5 om PreTal T T
%?ﬁﬁﬂﬁﬁﬁﬂfﬁmqmmvﬁm_

'wmtlsﬂ'ﬁﬁwm%?

(a) 12 em

() 10 em

(c) .8 em

(@ 6 cm |

TE AENS W AW 155232 em? ® |
mmﬁ:ﬁ%ﬁﬁww%?

(a) 40 cm

(b) 42 em

(c) 38 cm

@ 36cm

Wiﬁﬁ%ﬁg@%wﬁ%t

AW & MER AR i % s
C#E: 6em IR 12em ® | AR T Hr

Fa 7om ¥, O ) mwar (anuEn)
e

(@) 535 em’

() 462 cm’

(¢) 234 cn?

(@ 166 cm?®
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62. A solid metallic cylinder of height

10cm and radius 6 cm is melted to
make two cones in the ratio of volume
1:2 and of same height as 10cm.
What is the percentage increase in the
flat surface area ?

(a) 25%

(b) 50%

(c) 75%

@ 100%

. If one side of a right-a.ngléd triangle
(with all sides integers) is 15 cm, then
what is the maximum perimeter of the
triangle ? ’ '

(a) 40cm
(b) 225 em
(¢) 113 cm

(d) 112 em

. A thin rod of length 24 feet is cut into

~ rods of equal size and joined so as to
~ form a skeleton cube. What is the area

of one of the faces of the largest cube

thus constructed 7 .

(a) 25 square feet

(b) 24 square feet

~ (c) 9 square feet

(d) 4 square feet

23

65.

Consider a trapezium ABCD, in which

AB is parallel to CD and 4D is

perpendicular to AB. If the trapezium
has an incircle which touches 4B at E

-and CD at F, where EB=25 cm and

FC=16 cm, then what is the diameter

- of the circie ?

67.

(a) 16 cm
(b) 25 cm
(©) 36 cm
(d) 40.cm
Three copper spheres of radii 3 cm,

4cm and 5cm are melted to form a
large sphere. What is its radius ?

(a) 12 em
(b) 10 cm
(c) 8 cm
(d) 6cm
The volume of a hemisphere is

155232 em®. What is the radius of the
hemisphere ?

(a) 40 cm
(b) 42 cm
(c) 38 cm
() 36cm

. A bucket is in the form of a truncated '

cone. The diameters of the base and
top of the bucket arc 6 cm and 12 cm
respectively. If the height of the bucket
is 7 em, what is the capacity of the
bucket ? -

(a) 535 em’

(b) 462 cm’
(c) 234 ;m3

() 166 cm’

C - SDHY-T-MTH
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69.

70.

7.

72 L

T o9 el uep i I g om® | aR
Wk AR N P 6om R, A TEw
T T8N deveT R 4 7

(a) 96m cm?

(b) 697 cm®

(¢) 54r cm?

(d) 487 cm?

azﬂw&aﬂ&uﬁaiﬁgﬁmm%
% 9% @, R R e @
£ W ER @ ™ W e e
e
() 3000 cm?
(b) 3600 cm?
(©) 3744 cm?
@) 3777 em?

R Fat o P BT

1. AR W q 3K r%ﬁt{pﬁﬁﬁﬁ:

I 8, @ R g ¥ fig p
T Fwsa R |

2. R p T gr A R wE

AR p, g ft PP

SDHY-T-MTH - C

IR IIR W AT /g

(2) Fadl

) ¥w2

73.

(©) 18R 224
(d) TRALAR2

RUEISGICE CR IR LR LR

e g <A g D

A & af o o & gl

AR D d | R g R

-4,

(a) 8
() 9
(c) 10
@ 1

T At & v 500890 &, ok g
#a ok R when s 1R

- R AW s d, ok waR A

- 7w, @ 3w Read ahe Y
=t it ofer T ==& A9 dR TR

75.

2t gliE T ?
(@ 10
®) 14
© 15
@ 1

ﬁwwt%yﬁ%wz

R x=36 9 y=368 | x T AW H
tw =54t ?

(@) 54

) 27

© 16

(d) 8
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69. A right circular cone has height § cm. _ Which of the above statements is‘are
If the radius of its base is 6 cm, then eorrect S

what is its ‘to'tal surface are.a? . (3 1oy
(@) 961 cm? " (b) 2only
(&) 69r ca? () Bothland2
(d) Neither 1 nor2 .
 (©) 54n om? o
| 73, Radha and Rani are sisters. Five years
(d) 48n o’ . back, the age of Radha was three times
' o : that of Rani, but one yekr back the age
70. 8ix cubes, each with 12 cm edge are - of Radha was two times that of Rani. -
joined end to end. What is the surface . What is the age difference betwoen
. area of resulting cuboid ? them 7 |
| .
(a) 3000 cm? @
| ® 9
(b) 3600 cm? (o) 10
(c) 3744 cm? @ 11
@ 3 et 74, A person camries 2500 and wants to
B . - buy apples and oranges-out of it, If the
M. If the sum of a real number. and its cost of one apple is T5:and the cost of

one orange is Y7, then what is the

number of ways in which a person can
~ buy both apples and oranges using
" total amount ?

reciprocal is &, then how many such
nutribers are possible ?

(a) None _
A | | @ 10
(b) One ® 14
{©) Two o @15
(@) Four @ 17 |
| | 75, Given y is inversely proportional to
72. Consider the following statements : “fx, and x =36 when y=36. What is
| the value of x when y= 54 7
1. H p is relatively prime to cach of - Hevaeolxwhany .
g and r, then p is relatively prime (a) 54 |
to the product gr. - ) 27
2. I p divides the product gr and if Ty 16
p divides ¢, then p must divide r. @8
25 - C - SDHY-T-MTH
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76.

7.

18.

7.
& | AR x = g @ @ o

eI TATRIE?

(@) 4+7
() 4-V7

{c) 3+~ﬁ‘,

@ 3-47
7%, 88 3k 903 st & g W

F & ¢ R g R logye2 = 0301,

logyo3 = 0-477, log47 = 0-845]
(@) 21,20, 19
®) 20, 19, 18
(¢) 22,21,20
(d) 22, 20, 21

W i x 98 gaaw o s R f
w4 x & 14 % fenfa fom s g @
Juwe 7t & IR ww w15
fenfora R s 8, @ Qe 5 g
ifmfefm i d e wm
(3) 20 <x <30
(b) 30 <x <40
(c) 40 <x <50

(d) x> 50
) 6w A xRy
3 W o o 20 e 3 70 W @

wrht & | aR x dk yant aw g R
€ ot & ol g R 1s P

el QS R | AR e y A @

A 1, A T A A R B
e B ¥ P o w7

 SDHY-T-MTH - C

.(a.) 30 forre

80,

81.

() 45 e
(c) 60fmz
(d) 90 fme

P Tt T Rram D -
L.V wofmaen |

'2.‘4#;%%'?7@@1 & gt x 3 6
' X

S

: 5 ,
3.x & gl amﬁaimﬁ %liﬁm
x-2
—_—<1]
X
4.4232323...... @gﬁ?wﬁfﬁm
T wA #, el p FK g qulF E |
SEEA T AT AT R & 7
@ 1#k2
() 233
{c) 3AR4
d) 23R4 |
e 3 AR @ A 9
Aeg a@r 510, IR Fw A w

240 ¥ | WPvER & WRS 2R T 30 Rt
T WA T AR am
e 1 stea ger wm d 7

(8) 276 '

() 282

© B85

@) 375

| https://www.pyqonline.cﬁm




76. What is the square root of 16467 ?
@ 4+47 B |

(®) 4-+7

) 3+47

(@ 3-47.

. What is the number of digits in 7%, 8%
and 9%° respectively ? [Given log,2 =
0301, log,p3 = 0-477, log,,7 = 0-845]

(@ 21,20,19
(b)v 20, 19, 18
(€) 22,21,20
(@) 22,20,21

78. Let x be the smallest positive integer
such that when 14 divides x, the
remainder is 7; and when 15 divides x,
~ the remainder is 5. Which one of the
following is correct 7

(@) 20 <x < 30
() 30 <x<40
(c) 40 < x < 50
@ x> 50

. Two taps A and Y are fixed to a water
tank. If only X is opened, it drains out
the. full tank of water in 20 minutes.
If both X and Y are opened, then they
drain out the full tank of water in
‘15 minutes. If only Y is opened, how
long does it take to drain out the full
tank of water ?

27

81,

(a) 30 minutes
(b) 45 minutes
(c) 60 minutes

{d) 90 minutes

. Consider the fol[owing staternents

. 75 is a rational number,

2. There exists at least a positive

integer x such that —4%-;-.;-;

3. %%-c:.l for all real values of x.

4. 4232323......
P

the form q
integers.

Whmh of the above staizmcnts are
correct?

where p and g are

(a) 1and?2
(b) 2and 3
(c) 3and 4
(d) 2and4
A library has an average number of
510 visitors on Sunday and 240 on other
days. What is the average number of
visitors per day in a month of 30 days
beginning with Saturdey ?
(@ 276
(b) 282
{c) 285
(d) 375

C - SDHY-F-MTH
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82. ?Ifémw3+
xb—
1
yts
w&mm% iﬁ(x+y+z)ﬁsa%'
TWRE?
(a) 6
®) 7
() 8
@ 9
83. 7% =fw ¢ TGt § A WD A 990
T & et ¢, 9 U W I 10% &
W g § AR gE W 10% F @i |
3t TegeHt T g HH o A W
v
(@) 1%@
) 1%EN.
(c) nemAwh
(@) 5% ey
8. 600 ko ! TF AP0 W AR 120 ke T
AT @ 7 R g ok A IR A
97 T < Y 11 9 =1 wRy waar ® |
R i T A 200 km T T A
- R AR WP R AR AW
o fem oy dofee T R € 1R A
MR agmaad ¢
(a) 3:2
(b) 2:3
(c)A 3:4
@ 4:3

- SDHY-T-MTH - C

Lt ydke

"ss.qasyamﬁaﬂiw;:mm%%

(x—x2) ferm & | x fords TR & 7

@ -1 |
) -05

(c) 05

@ 15

- 86.9% 107, 6¥x75x105? = TawiRra

28

L, W A g
(@ 20

®) 22

) 23

'(d) 28

17,3939 % e o 5 ot e |
Wﬁ?ﬁmm%?

(@) 3
®) 6
(c) 7
@9

B8, T R o e ¥ A A

294 % | T GO = ATER F R ?
(a) 38 |
() 34

" © 30

@ 26 .
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1

_ 1
X+—s
y+s

are natural numbers, then what is
(x+y+z) equal to ?

- (a) 6
® 7

© 8
@ 9

32.if%=3+ , where x, y and z

. A person sells two items each at
Rs. 990, one at a profit of 10% and
another at a loss of 10%. What is the
combined percentage of pmﬂt or loss
for the twu items ?

(@) 1% loss
(b) 1% profit
(¢c) No profit no loss

(d) 0-5% profit

. It takes 11 hours for a 600 km journey
if 120 km is done by train and the rest
by car. It takes 40 minutes more if
200 km are covered by train and the

rest by car. What is the ratio of speed
of the car to that of the train ?

(a) 3:2
(b) 2:3
(c) 3:4

(d) 4:3

85. A real number x is such that (x—x%)

is maximum., What is:x equal to ?
(a) -15
() -0-5
cy 05
@ 15

. If 107 divides 63x75°x1052, then

what is the largest value of n?

https://www.pygonline.com

(@ 20
® 2
(c) 23

@ 28

. What is the digit in the unit’s place of

the number represented by 3% 3% 7
@3

®) 6 |

© 7

@ 9

ss.The sum of the squares of four

consecutive natural mmnbers is 294,
What is the sum of the numbers ?

~ (a) 38

(b) 34

{c) 30

d 26
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89.mvx2+px+q=.0%?"f{p3ﬂt q
FaR §, 7l g2 0% | p R gF AW
| o g ¥ 7

() 1,-2
() -1,2

@ -1, -2

o0, g demslt & W ek qw E

e it & oime 352 7
(a) 1
®) 2
{c) 3
d 4

9I.ﬁ{bhﬁ)ﬁmﬁﬂﬁwﬂéﬁx+b=0
F TF 7w ¥, Tel b 0 it &, < 2
w1 Sftraam ww R 2

(a) 36
() 49
{c) 64
@ 81

L
@ 2
(b) 3
(c) 4
d 7
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92.9R a=7+43 & Massm M

30

93, TSh

x2+5.r+10w T
?7? |
(@) -
® 2

© 1
d =

94,7 (x-3) f&At & (x + 2) st g

fr g wd @ (r-2) Rt F x4 4)
it TR g T @ & e 304
%,Eﬁx!fﬂmm%?

(a) 8

() 10

() 12

C(d) 15

95, Prafifa & v @ adt wlt 2 2

(8) 17 avren & oKk 7w

-~ (b) 07 A T & AR W B o

() Mpxgwm g, & p ok gwim &
T

@ A waRmTEt
96. n % 37 Tt Uil AT o Qe T R
- Fas R+ 1on+ 2w i ai g

(@) 2

®) 19
(c) 0
@d -19
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89, The equation x*+ px + ¢ = 0 has roots
equal to p and g where ¢ #0. What are

91.

the values of p and g respectively ?
@ 1,2

(b) 1,2

(c) -1,2-

() -1,-2

. How many pairs of natural numbers

are there such that the difference of
their squares is 35 ?

(@) 1
2

(c) 3
@ 4

If (b-6) is one root of the quadratic
equation x*>~ 6x + b =0, where b is an
jnteger, then what is the maximum
value of B2 7

(@) 36

b) 49

| E) 64
@) 81

1
v 0f€!+—&- ?

(a) 2.

(b) 3
() 4
@ 7

93, What is the maximum value of the

. If a=+7+44/3, then what is the value

3

@ 7

expfmgion ?

2 +5x+10

©7
) 1

@ =

. If the ratio of the work done by (x + 2)

workers in (x-3) days to the work
done by (x + 4) workers in (x —2) days
is 3 : 4, then what is the value of x ?

(@ 8
(®) 10
(c) 12
) 15

. Which one of the following is mof

correct 7
(a) 1 is neither prime nor composite.
(b) O is neither positive nor negative.

(c) If pxq is evcﬁ, then p and g are
always even

(d)- ¥2 is an irrational number

. ‘What is the sumn of all integer values of

n for which 2+ 191+ 92 is a perfect

 square? .

(@) 21
® 19
© 0
(d) w«19
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97. Tt P+ 32+ 3x + 1,

99, afe X= {a, (b}, ¢},

B+ 532+ 55+ 43K Y= {{a},b,c}
A+5p+4 Z={a, b, {c}} &,
WY WEE (LCM)wTd ? A (XNY)NZ Forms sRre R 7

(8) (et 1% +4) +x +1)
0) (R +x+)
(© (x+DE2+x+1)

@ {a b, ¢}

® {fa), (b}, c})

© {0}
(@) G+ s+ 442 +541)
@0
e |
9. & ;i_*()’(’y:]z){:fx)") FHAT 100, FEAE p K g @ R & 5 R
v Y THE prd+3x+20=0 F TH W
i e AR R -6 R | (p—g) W
@ 0 | . AREmd?
) % {a) ~I
1 1
© 3 () 2
@1 | @ 3
' SDHY-T-MTH - C R
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97. What is the LCM of the polynommls 99, If X= {a, {b}, ¢},

B+32+3+1, Y= {{a}, b, c} and
B+ 532+ 55+ 4 and Z={a, b, {c}},
P+ 5x+47 | then (XN¥)NZ equals to

(a) (x+1P(x+4)(x®+x+1)

(@) {a, b c}
®) (+4E+x+) N

®) {{a}, {b}, {c}}
() x+1)2+x+1) ‘

- © (@
(d) (x+1F(x+4)x?+x+1) © )
| @
98. What is the value of * |
_(x~y)3+(ymz)3+(z—x)3? - 100. nmnbm,oandqmsuéhthanhc. |
Hx— yXy-2z){z-x) quadratic equation px?+3x+2g=0
: has —6 as the sum and the product of
(a) 0 ~ the roots. What is the value of (p -4} ?
i @ -1
®) 3
b1
| .
() ry © 2
@1 - @3
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10.

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAM]NMTON YOU SHOULD
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Admission Cextificate.
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away with you the Test Booklet

Shiegts for rough work are appended in the Test Booklet at the end

Penalty for wrong Answers :
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